
 

 
   Lesson 6 Exit Ticket  

Name              Date       

1. Fill in the empty boxes to complete the pattern. 

 

 

 

 

Explain in pictures, numbers, or words how you found your answers.  

  

 

 

 

 

 

 

2. Fill in the blank for each equation. 

a.   1,000 + 56,879 = ____________  b.   324,560 – 100,000 = ____________  

 

c.   456,080 – 10,000 = ______________ d.   10,000 + 786,233 = ____________ 

 

3. The population of Rochester, NY, in the 2000 Census was 219,782.  The 2010 Census found that the 

population decreased by about 10,000.  About how many people lived in Rochester in 2010?   

Explain in pictures, numbers, or words how you found your answer.  

 

 

 

 

 

 

 

 

 

 

 

 

468,235 
 

 

 
471,235 472,235 

 

 

 

Lesson 6: Find 1, 10, and 100 thousand more and less than a given number. 
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